


Who of you (A)/ is joining (B)/ the team 

first ? (C)/ No error.

ans :- Replace who to which. : Which is 
used for choice.



o Although she got a clean chit (A)/ from the court, 

she did not to rely upon the solicitor (B)/ who had 

helped him. (C)/ No error (D).

Ans :- Replace Him to her.



You should learn (A)/ to give away which (B)/ you 

do not need. (C)/ No error.

Ans ;- Replace which to What : Because there is no 
antecedent in this sentence and in this case relative 
pronoun what is used.



Mahatma gandhi taught us (A)/ that one should respect 

(B)/ the religion of others as much as his own. (C)/ No error 

(D)

Replace his to one’s. : Possessive “one’s” is used for ‘One’



 All which (A)/glitters is (B)/not gold. (C)/no 

error (D)

ANS ;- USE THAT IN PLACE OF WHICH 



 Neither of the three (A)/ candidates is fit (B)/ for 

this post. (C)/ No error. (D)

ANS :- REPLACE NEITHER WITH NONE     

BECAUSE  NEITHER IS USED FOR TWO AND 

NONE FOR MORE THAN THREE 



 The book is well illustrated(a)/ and 

attractively bound(b)/ making altogether an 

attractive volume(c)/ no error(d)/

ANS :- USE IT AFTER MAKING 



 The audience are(a)/ requested to be in 
its(b)/ seats and stay away from the 
track(c)/ No error.(d)/

use 'their' in place of 'its' , when we use 

collective noun in the given sentence 

and denoted a person individually so 

we should use 'plural pronoun' and 
'plural verb'



Mrs. Pratap, being a good(a)/ teacher she 

is selected for(b)/ the National Award.(c)/ 

No error(d)/

ans :- REMOVE , SHE 



o Instead of laying off(a)/ the workers, the 
company decided (b)/ to ask them to avail 
voluntary retirement.(c)/ No error(d)/

Ans :- we should use reflexive pronoun 

and preposition 'of' after 'avail' , use 
'themselves of' after 'avail' .



 She could not/ (b) bear/ (c) his 

separation./ (d) No error. 

Ans :- USE SEPARATION FROM HIM .



 My house/ (b) is farther/ (c) than 

her's./ (d) No error.

Ans :- change her's to hers.



o Between(a) /you and I, the secretary(b) / is 
not a gentleman.(c)/ No error (d)?

Ans :- use me



 Neither of the boys (a)/ has (b)/ 
submitted their records.(c)/ No Error 
(d) 

Ans :- use his  



o Dear students , (a) / 
enjoy(b)/ during the holidays.(c)/ 
No error (d) 

Ans :- use yourselves 



 India and Pakistan (a)/ should cooperate 
with(b)/ one another in this matter.(c)/ No 
error(d) 

Ans ;- use each other 



 She availed of (a)/ the(b)/ 
opportunity.(c)/ No error (d

Ans :- Use availed herself of



 He is the same boy who came here yesterday 

ans :- Use that 



 If I were him,(a)/ I would not misbehave (b)/ like 
this.(c) / No error(d) 

Ans :- use he 



 Good students(a)/ like you and he(b)/ 
should study regularly.(c)/ No error (d)

Ans :- use him



• You , he and I(a)/ are (b) /in the wrong.(c)/ 
No error (d)

Ans:- I, you and he



 Everyone announced (a)/ one’s plans 
in(b)/ the presence of the President.(c)/ No 
error

(d)

Answer: his plans in



o The committee were (a)/divided in its opinion 
(b)/ regarding this issue. (c) / No error (d)

(b) Answer: in their opinion.



 Sangeeta and (a)/ myself went to 

(b)/Sohna Complex. (c)/ No error (d)

Ans:- use I



 It was her (a)/ who did (b)/ the cooking. (c)/ No 
error (d)

ANS :- WRITE IT WAS SHE 



 I know the boy (a)/ who use  you (b)/ met there. 

(c)/ No error (d)

Ans :- use whom 




